STD-III
MENTAL MATHS -3

TERM II
0 MRS



READ THE INSTRUCTIONS
CAREFULLY AND ANSWER
THE QUESTIONS . SHADE
THE CORRECT OPTION IN
YOUR SHEET.



Q1. ANEW PENCIL IS ABOUT 18 LONG.

A. Ccm
B. mm
C. km
D. m



Q2. AMAN WALKS ABOUT 5 _IN 1 HOUR.

A. Ccm
B. mm
C. km
D. m



Q3. ANKITA'S HEIGHT IS 160 CM. HER SISTER IS 5 CM

TALLER THAN HER. HOW TALL IS HER SISTER??

A. 5cm
B. 65cm
C. 165 cm

D. 1605 cm



Q4. RITU HAD 56m OF CLOTH. SHE USED 34m OF

CLOTH TO MAKE DRESSES IN THE BOUTIQUE.
HOW MANY METRES OF CLOTH WAS LEFT??

A. 34 m
B.50m
C.22m
D. 64 m




Q5.SOME CHILDREN ARE ABOUT 120  TALL.

A. Ccm
B. mm
C. km
D. m



Q6. TO CONVERT 500cm TO m, BY 100.

A. Divide
B. Multiply
C. Add

D. Subtract



Q7. AKHIL IS RUNNING A 5 km LONG RACE.

HE HAS COMPLETED EXACTLY ONE HALF OF THE
RACE. HOW MANY METRES HAS AKHIL RUN SO FAR?

A. 3000 m
B. 2600 m
C. 2500 m
D. 2000 m




Q8. REEMA HAS A COIL OF RIBBON THAT IS 5 m LONG. SHE
GAVE HER SISTER 175 cm OF THE RIBBON TO WRAP A

GIFT. HOW MANY CENTIMETRES OF RIBBON ARE LEFT
ON THE COIL?

A. 3000 cm
B. 350 cm
C. 2/5cm
D. 325 cm




Q9. TO CONVERT 5 km TO m, MULTIPLY BY:

A. 1000
B. 100
C. 10



Q10. IN SAMEER’S HOUSE THERE ARE 8 TREES GROWING IN A

STRAIGHT LINE AT INTERVALS OF 3 m. CAN YOU TELL THE
DISTANCE BETWEEN THE TWO TREES ON EITHER ENDS?

A. 8m
B. 83 m
C.21m
D. 24 m




ANSWER KEY



cm (A)

m (D)

165 cm (C)
22 m (C)
cm (A)
Divide (A)
2500 m (C)
325 cm (D)
1000 (A)
10. 21 m (C)
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